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aRE: E78@N AF —FauA’ aR4E: E78@N AF PN’
EEERH: 21&10A28 (1) EEERH: 21410428 (1)
fERA3—X: OUT 1IN IBGLRE % Y MIE fEA3—X: OUT IN JBGLREAE: ~YNIE
BRAE: FTILRYT BEIBRL: 1:h90M Y SMAR BB AER FTLRYTP BEIBRL: 1090k yh SmA
HDCPLFR: B4 :36 Z4:36 =7 :36 B 53 A HDCPLFR: B14:36 Z4:36 > =7:36 B 4 53 A
Avk: PARX2 5 3 A Avk: PARX2 5 3 A
BELA—)L: OUT DRBOBD® =7 0 A [ELk—IL: OUT DQBBD® =7 0 A
I N @@J@dDI® it 56 A I N (@0d@d0® 5t 56 A
JE £z 2mES OUT| I N GROSS| HDCP | NET e JNE{:E 2mES OUT| I N GROSS| HDCP | NET e
= X B 39 47 86 16.8 69.2 26 EK Bith 48 45 93 168 76.2
2 inie F 48 37 85 144 706 27 #& BAER 45 48 93 168 76.2
3 KB —1& 38 40 78 1.2 70.8 28 BEFKX 48 44 92 156 76.4
4 trAE #& 37 34 71 00 710 BGE 29 ¥ & 46 39 85 84 76.6
5 I15HE 8% 38 36 74 24 716 30 BB FA 44 47 91 144 76.6
6 A EE 40 39 79 7.2 71.8 31 X Bz 44 @ 52 96 19.2 76.8
7 KH KE 39 33 12 00 720 32 MR E 49 46 95 180 77.0
8 ¥k FH 47 43 90 180 720 33 FMER 44 51 95 180 717.0
9 Ik X 43 41 84 120 720 34 EE FH=E 44 50 94 168  71.2
10 #2H O 41 40 81 84 726 35 WX E—ER 41 40 81 3.6 71.4
11 {ER &2 39 42 81 84 726 36 PR BX 46 40 86 84 716
12 i BEA 49 43 92 180 740 37 HERM 52 46 98 204 776
13 EBH HA 48 37 856 108 74.2 38 & A= 47 45 92 144 7176
14 55 % 41 43 84 9.6 74.4 39 idtlm =5 54 50 104 264 716
15 BRE 44 46 90 156 74.4 40 Kk & 43 43 86 84 716
16 APq fE—ER 41 36 77 24 746 41 A|igs fEE 44 @ 47 91 132 71.8
17 4B BX 44 @ 38 82 7.2 74.8 42 K 3B 51 40 91 132  71.8
18 Rk BAsA 38 38 76 1.2 74.8 43 1B HRE 47 42 89 108 78.2
19 LA &7 53 41 94 19.2 74.8 44 #E0O £ 57 55 112 336  78.4
20 P FH= 43 38 81 6.0 75.0 45 ki HhE 51 53 104 252 78.8
21 H®H BF 45 47 92 168 175.2 46 HLE 55 52 107 276  79.4
22 th& ¥ 52 45 97 216 1754 47 B FHE 49 47 96 156 80.4
23 EH ER 44 | 40 84 84 756 48 Hrig B A 49 53 102 216 @ 80.4
24 WK IE2Z 44 45 89 132 75.8 49 BX FE 48 53 101 204 80.6
25 B thid 45 50 95 19.2 75.8 50 it Fid 46 41 87 60 81.0
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aR4A: FE78EN AK —bayA’ aR4E: F78EIN AR —bayA’
BfEERR: 215F10A28 (1) FfEERA 21510828 (1)
#HA3—X: OUT IN IBGLRE A E: RyME #FHE3—X: OUT IN JERLREAE: *YHIE
BRAE: FTILRYT BEIBRL: 1:h90M Y SMAR BB AER FTLRYTP BEIBRL: 1:090M Y SmA
HDCPLFR: B14:36 Z4:36 >~=7:36 B % 53 A HDCPLFR: B14:36 Z4:36 > =7:36 B % 53 A
Avk: PARX2 = 3 A Avbk: PARX2 5 3 A
fELA—IL: OUT OR2@B®D® =7 0 A BLA—IL: OUT DR@BD® ety & 0 A
I N (0020daand it 56 A I N (0d2d9dadnds £t - 56 A
NE 4L 2mES OUT| I N GROSS| HDCP | NET e JNE{:E 2mES OUT| I N GROSS| HDCP | NET e
51 A% B# 56 @ 48 104 228 @ 81.2
52 WX FZHB 48 52 100 16.8 83.2
53 #ith BB 48 | 51 99 156 834
54 nE BF 58 57 115 312 83.8 BBE
55 =FH £ 50 @ 63 113 276 854
56 e FE 61 58 119 28.8 90.2
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